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A firecracker is thrown into the air and
explodes into many pieces of
approximately equal mass. Which of
the following diagrams show the
possible velocities the pieces have?

. A) " B) . 0): %

More than one of the above
All of the above
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A box slides down an inclined plane with friction
and compresses a spring with spring constant
K. The box then goes back up the incline to a
height h. | then replace the spring with a new
spring with spring constant 4K.

How far will new spring compress compared to

original spring? | T
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